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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Draw neat diagram wherever necessary.

1  What are the energy resources ? Give a detailed information 14

of coal producing regions of India.
OR
1  Write a detailed geographical note on major industrial
regions of India.

2  Explain the economic importance of Iron and Steel

14

14

industry of India and give the outline of its development.

OR

2 Give a geographical information of distribution of pipeline 14

in India with special reference to transport of natural gas

and liquid materials.

3  Explain in detail the contribution of Railways in economic 14

development of India.
OR
3 Give a information of development of industries in India
and give account of Cement Industry of India.

4  What is density of population ? Explain the factors
affecting the density of population in India.
OR
4  Write a detailed geographical notes on national and
international trade of India.

5 Write notes on : (any two)
(1) Mineral oil producing regions of India
(2) Sugar Industry of India
(3) Urbanization in India
(4) Indian Trade Policy.
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